
Instructions 

a) Install the snow drift cutters (item 1) inside of each side of the snowblower body (item 2).  
b) Secure in place with two 1/4 x 1/2" screws and nuts in the existing holes (item 3) heads outside. 
c) Drill a 9/32" (0.281) hole in lip (item 4) of the snowblower body using the drift cutter as a template. 
d) Secure with a 1/4 x 1/2" screw (item 5) and nut, the head inside. 
e) Tighten all screws securely. 
 
a) Installer les couteaux à neige (item 1) à l’intérieur de chaque côté du bâti de la souffleuse (item 2). 
b) Fixer en place avec deux vis 1/4 x 1/2" et écrous dans les trous (item 3) déjà en place, les têtes à l’extérieur. 
c) Percer un trou de 9/32" (0.281) sur la lèvre (item 4) du bâti de la souffleuse en utilisant le couteau à neige 

comme gabarit.  
d) Fixer en place avec une vis de 1/4 x 1/2" (item 5) et écrou, la tête à l’intérieur.  
e) Serrer tous les boulons fermement. 

O-07 

Install the snow drift cutters according to the following instructions: 
Installer les couteaux à neige selon les instructions suivantes: 

#700535-1 SNOW DRIFT CUTTERS FOR VANTAGE SNOWBLOWER  
#700535-1 COUTEAUX À NEIGE POUR SOUFFLEUSE VANTAGE 

INSTALLATION  

POUR ENSEMBLE / FOR KIT 
700535-1 

A 

A 

B 

B 

Hole A= For snowblower 700512-4 / 700513-4 ((2014 & +)  
serial # starting by 14) 

Hole B= For snowblower 700512 / 700513 (-1,-2,-3,-4 (2013 & -), 
serial # starting by 13 & -) 

 
Trou A= Pour souffleuse 700512-4 / 700513-4 ((2014 & +)  

 # de série commençant par 14) 
Trou B= Pour souffleuse 700512 / 700513 (-1,-2,-3,-4 (2013 & -), 

# de série commençant par 13 & -) 



Packing List 

Liste d’emballage 

#700535-1 SNOW DRIFT CUTTERS FOR VANTAGE SNOWBLOWER  
#700535-1 COUTEAUX À NEIGE POUR SOUFFLEUSE VANTAGE 

CONTENTS OF THE BOX / CONTENU DE LA BOÎTE 

QTY 
QTÉ 

DESCRIPTION DESCRIPTION PART # 
PIÈCE # 

1 Left drift cutter Couteau à neige gauche 107313 

1 Right drift cutter Couteau à neige droit 107314 

1 Hardware bag Sac de quincaillerie 107315 

O-07 

O/L = Obtain locally / Obtenir localement 

#700535-1 SNOW DRIFT CUTTERS FOR VANTAGE SNOWBLOWER  
#700535-1 COUTEAUX À NEIGE POUR SOUFFLEUSE VANTAGE 
CONTENTS OF THE BAG #107315 / CONTENU DU SAC #107315 

QTY 
QTÉ 

DESCRIPTION DESCRIPTION PART # 
PIÈCE # 

6 Truss head mechanic screw 1/4" n.c. x 1/2" Vis mécanique T. H. 1/4" n.c. x 1/2" O/L 

6 Flange nut 1/4" n.c. Écrou à bride 1/4" n.c. O/L 

1 List of the box / bag #107315 & instruction sheet Liste de la boîte / du sac #107315 & feuille d’instruction — 

#107315 

POUR ENSEMBLE / FOR KIT 
700535-1 


